EIATEL AN SHEHRESA

EITHER VVANWALGETES

NO.1 %5 /4 &
@ ROEN FEEREFHEAI0
(1) 3« — 2y = 0
1 1
5> X + 3 y = 2
(2) 1 1
— + — = 2
2 3 7
1 2 _ 6
4 3 7
(3) X + vy = 22
1 1
! L - _ o«
4 " 6 °
(4) 1 1 1
R + — = —
2 x 2 7 5
1 1
4 x — 4 y = x + 3
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(1) SHOHZA(FEDCHTBORNAMERENMITEETS
3 x — 2 y =0 (D
y =12 @

(2) 3 x4+ y 12 @
-) 3 x — 8 y =72 @
10 y = -60
y = -6
y = -6 #DIIKALT,
3 x + -12 = 12
x = 8
( x, y)»=(06 8, -6 )

x = 16 zDIRALT
16 + y = 22
y = 6

( x , y ) = ( 1 6 ’ 6 )
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(4) BETHE

3 x + 5 y = 0 @
+ ) -3 x - y = 12 @
4 y = 12
y = 3
y = 3  ZDIRALT,
3 x + 15 =0
X = _5
( x, y)=06 -5, 3 )
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